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11.  Two  independent  harmonic  oscillators  of  equal mass  are  oscillating  about  the  origin with 
angular frequencies ߱ଵ and ߱ଶ and have total energies ܧଵ and  ܧଶ, respectively. The variations of 
their momenta p with positions ݔ are shown  in the figures.  If ௔

௕
ൌ ݊ଶ and ௔

ோ
ൌ ݊ then the correct 

equation(s) is (are) 
 

 
 

(A) ܧଵ߱ଵ ൌ ଶ߱ଶ                           (B) ఠమܧ
ఠభ
ൌ ݊ଶ                       (C) ߱ଵ߱ଵ ൌ ݊ଶ                    (D) ாభ

ఠభ
ൌ ாమ

ఠమ
 

 
Answer: 
Here at ݔ ൌ ݌ ݉ݑ݉݅݊݅݉ ݏ݅ ݉ݑݐ݊݁݉݋݉,ܽ ൌ ݔ ݐܽ ݀݊ܽ 0 ൌ ݉ݑ݉݅ݔܽ݉ ݏ݅ ݌ ݉ݑݐ݊݁݉݋݉ 0 ൌ ܾ 
We know that maximum momentum at ݔ ൌ 0, ܾ ൌ ݉߱ଵܽ ݎ݋ 

௕
௔
ൌ ݉߱ଵ ՜ ሺ1ሻ 

Second harmonic oscillator being circular maximum momentum = R at ݔ ൌ 0 
 
Therefore ܴ ൌ ݉߱ଶܴ 1 ݎ݋ ൌ ݉߱ଶ ՜ ሺ2ሻ 
 
Dividing equation (1) by equation (2): 
 
௠ఠభ
௠ఠమ

ൌ ௕
௔
 ݎ݋  ఠభ

ఠమ
ൌ ௕

௔
  ቂ ݃݅݊݁ݒ  ௔

௕
ൌ ݊ଶݎ݋   ௕

௔
ൌ ଵ

௡మ
ቃ  ݎ݋ ఠభ

ఠమ
ൌ ଵ

௡మ
ݎ݋  ఠమ

ఠభ
ൌ  ݊ଶ (option B is correct) 

 

Also ܧଵ ൌ
ଵ
ଶ
݉߱ଵଶܽଶ ܽ݊݀ ܧଶ ൌ

ଵ
ଶ
݉߱ଶ

ଶܴଶ ݎ݋  ாభ
ாమ
ൌ ఠభ

మ௔మ

ఠమమோమ
ൌ ቀఠభ

ఠమ
ቁ
ଶ
ቀ௔
ோ
ቁ
ଶ
 ሾ ݃݅݊݁ݒ  ௔

ோ
ൌ ݊ሿ 

Therefore 
ாభ
ாమ
ൌ ఠభ

ఠమ
ൈ ଵ

௡మ
ൈ ݊ଶݎ݋  ாభ

ఠభ
ൌ ாమ

ఠమ
  (option D is also correct) 

 
Correct options are (B) and (D) 


